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Next week is break week
.
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After valiant's permanent paper ,

I'll mention some more results

in alg. comp . thy

Then : graphs , eigenvalues , . .
-
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Valiant's gadgets :
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Pant ! Say you here a
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of
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Claim !

Route = a set of cycles

in big graph S.t.
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then the only non-zero contrib

to pennant is

for each Valiant piece ,
and

each such piece can be replaced by
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Idea ! Consider all union of

cycles in V :{Vi
,
- , / Um } ,
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the 2,3 vertices aren't connected



to exterior nodes
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look at red edges :
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Son the permit !
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subdivide T 's into their
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,
outdegree I
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What about :

to V1 Cn

③☒ ? external*¥÷"* edges ?

outdgncl
to

u
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lhdegree I to v4
Rem outdegree 0 to Vy
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Teach internal edge
has ihdegmee =\

outdegree = 1

So sum over all in degree edges
in vert 143,4 = all outdegree



*¥
recall ! on a digraph

,

the

indegree (v ) = # edges pointing
to ✓

outdegree ( v ) = # edges pantry
away from V

the total

i-ndag.me } internet= the total edges
atsdeyren



hence

4¥ total
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F- graph theoretic greasers !
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last case

external indegerep
③ # = u outdg.ru

no external edges = o

PermHI =O

the sum over all such r ! →IT
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By a case analysis , and

Perm (X ) = Permit 1,451.41)
= Perretta :D)
= Perm ( ✗ (t ; 411=0
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Pttexf !

Say you have

( 4 or ×, or >g)
( f

AND
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AND

i

t )

gbuild - digraph with edge weights
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E- ¢1
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Digraph graph sik is

poly ( size of f)
=

Break 101178 - 10:28



Have f = 3Gt formula i
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indegree = out degree =\room
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Class ends
.


